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Question Booklet contains 110 Questions. Each Questions contains four options
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AYMTIVY BULSIMALARS: daow & AT

............. ¥ R ard fae & wvan & g

# | In Manchester and differential Manchester encoding, the transition at the middle of
the bit isused for

a. @1% FIEwT / Baud transfer b.faT zrwT / Bit transfer
C. AT T / Byte transfer d.fawisEas / Synchronization

3. vE aEana @ R TR I & SR o R g §EaT & U GER # A
AT BT § 9 g is a type of transmission impairment in which the

signal loses strength due to the different propagation speeds of each frequency that
makes up the signal.

a. WA+ / Attenuation b. fe¥gree /Distortion
c. @ad | Decibel d. A% /| Noise

4. 0101 1010 0001 0001 0101 0101 0001 1000 1010 1010 0000 1111 AT TSH &
T bFeef@aa #=1 ¥| What is the hexadecimal equivalent of the Ethernet address
0101 1010 0001 0001 0101 0101 0001 1000 1010 1010 0000 11117

a. 5A-18-5A-18-55-0F b. 5A-81-BA-81-AA-OF

c. 5A-11-55-18-AA-0F d. 5A-88-AA-18-55-F0

5. 4 m;ﬁrqmﬁrmtmqtmmta’fgﬁm-——-—ﬁaﬁ When data and
acknowledgment are sent on the same frame, this is called
a. &= &fFar / Back packing b.Ra &fdar / Piggy backing
c. & 3reaT WERAr / A good idea  d. R #fdar / Piggy packing

6. v & ug UH HEHABIANA &1 # 39A @1 ¥ /ADSL modem uses modulation method
a. FDM+FSK b. TDM+ASK c. TDM+FSK d. QAM + FDM

7. #=faz 802.11 T WLAN # 3Tt #/The bandwidth available in 802.11a WLAN is
a. 108 Mbps b. 54 Mbps c. 2 Mbps d. 11 Mbps

8. @’y w&=T @1 3 & / Yagi antenna has a gain of
a. 10 to 20 dBi b. 20 to 30 dBi
c. 5to 10 dBi d. 25 to 30dBi

0. U T T A FHARAT  SER & fewrr & / Frequencies in the UHF range propagate
by means of

a. 7133 AT /AT /Ground waves

b.ahel arEe (v 3T TH) FER/ Line of sight (LOS) propagation.

c. TS adar [ Sky waves

d. @ag awr | Surface waves

10. T FR AT & 1 A Megger is usually

a. FoFIECie® TR suaoT | Electrostatic type instrument

b. FRAT FgW TR ITHM [ Moving coil tyre instrument

¢ #fe arR T 39ERT [ Hot wire tyre instrument

d. U AR IEA FHER F ITHT / A moving iron type instrument

e - 3|Page
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1. & &R s T &1 O sdlle F A @@ @1fikA / Recelver In the sensor block of
a cable route tracer should be .

a. 3vq #fAfka / Highly Sensitive

b. sva df@fRa IR 3vq AfFea 21 / Both highly Sensitive and highly Selective

c. dfxfra / Sensitive

d. ¥xfdea /Selective

12. & T&aw @18 AT & gAdEw @@or § / The characteristic Impedance of a swiich board
cable is

a. 600 ohms b. 470 ohms c. 500 ohms d. 1120 ohms

13. 50513 ¥R« # gt i @ —-——— B The number of units in 50 pair cable are
a. 4 b. 6 G2 d. 5.

14. 9 38 & TF FRA F e & @R AAT A FT YU FGT 7T ¢/ Entry of
moisture/water is prevented by in PIJF cable

a. S 3¢ YT / Gl armour b. Star MJelly

c. TegfAfaEa ofiT / Aluminium sheath d. ufeird=r e / Polythene sheet

15, e &1 HFAAUA JEEGERT HT YT THAT ST &/ Isolation transformers are
used to

a. AR 7 &= & @A / For reducing noise

b. aRuut F1 d&F = & &2 / For balancing of circuits

c. 342w #AReT & & / For impedance matching

d. WEAY & FROT decst sAYS @A skl /| To reduce Induced voltage due to catenary

16. U g /o e e & gagws dets  SfbwAH ————— HgHT &/ Maximum
permissible induced voltage in an-U/G telecom cabie is

a. 140 V b. 160 V c. 170 V d. 150 V

17. 0.9 UH U @OIOF 34 FI15 Hed  H THEHAYA Flied —— db/km & / The
Transmission loss in 0.9 mm conductor dia quad cabie [s dbl/km

a. 0.38 b. 0.25 c. 0.63 d. 0.69

18. FfRw ¥ THF [AFT FART 9Y W 9 ~eeeeeedEX A1 Y W W W § [ The
cable route indicatorsimarkers are to be placed at every meters on normal
path

a. 100 A / mirs b. 70 #HRT /mirs

c. 60 #reI / mirs d. 50 #RIT / mtrs

18. e FA18 Ffaw & so® ivege & @A AR FEER  F g7dsd I - ¥
The impedance ratio of matching transformer used for block circuits in unloaded quad
cable Is

a. 470:600 Ohms b. 1:2 Ohms c. 1120: 600 Ohms d. 470:1120 Ohms

20. @AY gfA v = — #Y FREARAT ¥ Y 87 B Ser § / Transmission
loss test shall be carried out with a tone frequency of
a. 1000 cis b. 600 cis c. 800 c’s d. 400 c/s

4|Page

Scanned with CamScanner



__.-,-.‘-’Hﬁﬂf-kﬁﬁ?\'aﬁ%mﬁﬁ{émﬁﬁﬂ’iﬂtﬁzﬁwaﬁm @ & vt e g A
110 0 (SR N VAT AT ¥ wrd fhar S |

BPAC and IB circuits for testing of Quad cable
Station Master

Before disconnecting Block,
has to be obtained from

a. WSS #AA / Disconnection memo b. g4t 33T / Disconnection order

c. WU gFHAT / Disconnection booklet d. 3r@arsa A / Disconnection note

ZZ.WQMWﬁﬁmmmmmd@maﬁm{:ﬂmm!Namaany

one control circuit used only in RE sections.

a. [T H /Section Control b. HTaTaETA @giel /Emergency Control
c. #¥ur i@y & [Traction Power Control d. f2<ér @erer / Deputy Control

23. __-—ﬁﬂvmtmmwﬁvﬁwwﬁf%!SCADA system Is
operating through control circuit.

a. f#e | Remote b. &¥or &yt / Traction Loco

c. 99T giax / Traction Power d. @+ /| Section

24.3 I ImgfT - W) RERT  saEEE FHIR BeE YoTaT $ AR B & | 0
T | Master phone of Electronic LC gate system operates on DC supply.
Select one:

a. 3V b. 48V c. 24V d. 12V

25T & UF B ey &g 3R ve gl & fv @S9 w&F--——-=2/ In Telephony, a
phone type connected between boss an secretary Is a
a. geasA Wi+ / hotline phone

b. #&w 3R AR @9 / main and extension type >

c. 3a% &9 Y FFAr 9™ Fad U B / only one phone’shared between them
d. 2 WA & gEEg 1S / ordinary pair of two phones

26. FRe GaFdHA 6000 HE THS UH vawdwr A Yba dow e 6 w4 IR Rww Hi

Feafor #a1 £ /| What Is numbering of even and odd shelf of Peripheral shelf unit 6 in
Coral Flexicom 6000 ISDN Exchange?

a. A% Ishelf-13, A+H/ shelf 14 b. 9'ew/ shelf-11, ¥+F/ shelf 12
c. AT/shelf-12, ¥+F/ shelf 13 d. 9% /shelf-2, =% /shelf 3

27. RF FaFERA 6000 HE TH N UH vaadas A Boliew O Sy ¥ & @ s &

Which card is Digital tones generator in coral flexicom 6000 ISDN Exchange?

a. 32 GC b. DRCF c. DTR d. MCP-ATS

28. FEAA ROy 3800 IMETH & U THEUS N P A TS FEAF NG F FOE Far &
| Which card of Siemens Hipath 3800 ISDN Exchange Supports Cordless Telephone?

a. ™ UH &3 SMTD b.3r 2[3“? T/ DUIN

c. U¥ U # U/ SLCN d. &1 g 35 &/ DUIT

29.9BAA BEUY 3800 MTE UH ¥ US UHEUSA H U a6 FIA & HOWH & WRaw w4 &/

What is the radius of operation of a base station in Siemens hipath 3800 ISDN
Exchange?

a. 2008eT /| mts

b. 100 #HEX mis
c. 400 #ET /mts

d. 300 #eT / mts
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30. §ERA g oy 3800 3nE vEd o vewdor A fead 1% O & YA w0t 1 &/ How |
many DECT handsets are supported in siemens hipath 3800 ISDN Exchange?

a. 256 b. 252 c. 254 d 230

NI H e & I S THARYA F & ————£ / In ISDN PRI Transmission rate
are .

a. 2.048 Kbps b. 2048 Ktps c. 2048 Mbps d. 2048 Kbps

32, ¢ UE N UF vHEds A RISTEST F oFUT WHR IUWT far £/ What type of
Signaliing is used in ISDN Exchanges?

g. R2-MFC b. CAS c. MFC d. CCS-7

33. 9 & vedl & @19 wioEe ¥EV ———F @R ITFEY FIETAT AN &/ Supplementary
services between PBX's are provided by ‘

a. H251 Widy&r& / protocol b. H323 WiErwra/ protocol

c. Qsig WY& /protocol d. R2MFC €= / Tones

34.ged AW # ———————& § / In magneto islephons, only

a. N7 3% 2% Fros FawpEaT Y ST ST &/ ring back tone is sent to called subscriber

b. e W R FT Fas FaEFgay 1 A7 S § ringing current is sent on line to the
called subscriber

C.EAW O Wawnsal H NAT ST & / dial tone is sent to the subscriber

d. sraw fRar arar Bsfz & snar & / dialled digits are sent

35. vwww/ AT gOMel ——e & §7 H &7 Hoer § /  S87 signeliing systems are aiso
referred as

a. FO YA [{eEtasT / Control channel Signalhng

b. ¥ THIfAE AT / Channel associated signaliing
c. F1Ad e @a=Afaea/ Common channel signalling

d. 99 ¥ d5a RewTae Channel to channel signalling

36. TETHW 7 HTHIFeR QAT gl UBe ———— F A Secerdt & / SS7 Architecture
Signal control points are responsible for

T TH & W W YUA WY 3T FHmET / Prowdmg information messages from other
STP

b3y vH W & § YA WY 39wy Fawen /
scP

c. W & W Y uw W fF ¥ Waew WAV UG Faw=r /  providing information messages
from STP and SCP's

d. ST & ¥ A1 WA 3Iucey FHEw /Providing information messages from data base

7o P13 ATTANA H W WSEgs ASYERE (1 T 0 ) RIHE—————Eee arer
ufear & BSlicer &9 # @@« Sa1 § /[ In Pulse code Modulation, the Pulse Ampiitude
Modulated (PAM) signals are converted into digital form by the process calied

a, RN / Quantization b. #&da/ Sampling
¢. fpeefer / Filtering d. ge=If3er / Encoding

Providing information messages from other
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PCM, to reduce the quantization error

a. A% sa=days / Differential Quantization

b g ¥/ linear Quantization

c. % FHAAYT /Phase Quantization

d. A et swaa=/  Non-linear Quantization

method is adopted.

39, & W@ TH F 4 KHz ¥ TF dU ARG Rewe & Ry 3G aREa

In PCM, for a band limited signal of 4 KHz the sampling frequency will be
a. 20 b. 4 c. 8 d. 10

KHz g9 |
KHz.

40. @t @ TR womeY B R FEAR & ¥ F 39T g €/ PCM system uses
as line coding technique.

a. CMI b. NRZ c. HDB3 d. NRZ-M
41. fSgex 1 gfAT - ¥ The unit of Jitter is
adi33 /| Baud bac / Byte cg s / Ul d.fae Bit

4z.mﬁmmamﬂﬂwmmammﬁm
—7F ®7 & a3 qRe™a & /Wander is defined as the term variations of
the significant instant of a digital signal from their ideal position in time.

a. e Ishort b.aga wdr / very long c. &4 /long d. Ftg# | medium

m.waﬁrﬂ(ﬁtﬁwﬁmmm(m———m. %/ The average
coverage area (range) of a Walkie-Talkie (Hand Held sej) is Km
a. 5t 6 Km b. 8 to 10 Km c. 10 to 20 Km d. 110 2 Km

A4, I W F awwmﬁmmm(mﬁmmmmﬁwm
FEE BT )E@R aRERar e ¥ The frequency allotted by WPC (Wireless
Planning and Coordination wing of ministry of communication) in VHF range for Indian
Railways are ¥

a. 146 MHz-174 MHz b. It is not fixed& randomly allotted
¢. 130 MHz-140 MHz d. 380-460 MHz

45. T d e & Rt & s

% / The no. of bits in the MAC address

is !

a. 16 bit b. 32 bit c. 128 bit d. 48 bit

46. RMERET T T T g REdE e W ¥/ Traditional LAN Switch operate
MRS et

a. AW /Layer2 b. &3/ Layerd c. 93/ Layer1 d. ¥3) /Layerd

47.mﬁmw)mvmmmﬂ§taﬂ%mmﬁw—mmmmh
The hardware (or) MAC address is burnt on which patof NIC______———

a. UA & W U A/ NVRAM b. weier / Flash

¢. ¥X 3 vA /| ROM d. ¥y v vH /| RAM

7|Page
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48, HEALW I e YWAT F 29T ®1aT B / The Subnetted mask used In Rallnet

8. 255.285.255.0 b. 255.255.255.128

c. 255.255.0.0 d. 255.0.0.0

49. W 3 ¥ vW weak 3% @ FAeefad ——— ¥ Back bone connectivity of FOIS
notwork |s ;

a. 100 Mbps links b. 64 Ktps data lines

¢. 2 Mbps data lines d. VSAT links

50. U M W§ W Aeed & A9t ——— ¥/ Topology of FOIS network
Is .

a. TR AT / Star topology b. A 2t / Mesh topology

¢. TAST S[&T /Mixed (Star + Mesh) d. Rer / Ring

51. T yR oy @ g & v gafedes & S svae @ o el - ® /

Topology used for PRS & UTS unification is

ag7aey & W AF AV / Inverted tree and Partial mesh
b. A% / Mesh

c. 3 AU / Partial Mesh

d. gwaéT &/  Inverted Tree

S2qmeie A MR ¥R & 99 wig #9wa & Y w3 R §.0F # g /The round-trip
time for smooth working between cilent terminal and server Is

Select one:
a. 20-40m sec b. 100-110 m sec
¢. 130-150 m sec d. 60-80 m sec

53. N § & IuRa Bed @t & wwwm f & @ vw & 9 o N A B st W
d § & ———& | The numbers of LED based display boards, can be connected to
one OIP port of PDCH are

a. & 1% /Two boards b.@ &% / Six boards

¢. 9K @1 / Four boards d. 318 &% / Eight boards

54. TRRE gl o & Y AT TR I BT E/ Multimode fibre s
best designed for transmission distances,

a. A& / shorter b. ®aT/ Longer . HLAH / medium  d.AET w1 / very Long
§5. UF vHwmET 1 wiRwdr By woenT € / The numerical aperture of a SM
fibre is abtout, .

a. 2.0 tc 3.1 b. 0.95 to 1.2 c. 0.10 to 0.17. d. 1.1to 2.1

50.0gaY Wtesd HaR & e & Ay awe RWyAd & A0 I Bt & FROT —— ¥
With reference to flbre optic communication, Scattering and absorption of light signal
cause.

a. o Jiafe wfaaféia (Total internal reflection’ b.f&¥wdw / Dispersion

c. [Bewa F @ /gain to the signal d. 3&Av= attenuation

8|Page
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AVITIVY B ARAMHAD Qe A & o 3R B 7o & # @ T e TH T

fgea 3 & ¥y &ag i Ry After laying the optic fiber cable at least

mm from the surface of the cable should be covered with riddle earth.
a. 12000 b. 120 c. 1200

d. 1120
58. ¥ s wREr W 3H dE9d 8/ The normal optic fiber cable drum
length is
a. 2 Km b. 1 Km c. 3 Km d. 4 Km
59, HIfX® WHW & vF WRE TWAW @A TR HOT meemmeeme dB yfaF gt &eh ¥ |
The loss offered by a fusion splice of optic fibers shall not exceed dB. .
a. 0.005 b. 0.2 ColD d. 0.05

60, Uw 3iftew FFeT & I @E (W &)

current ( Id ) of an optical detector is defined as ’

a. TF B FUA F WO W g s av ¥/ It is the ratio of photon
generation rate and electron incidence rate

b. 3% Fc M Jifera fma & ey #§ B ey dve e Y Dark

current is the current generated in a photo detector in the absence of any optical
signal.

C. FOMI TR T H MEaA IR PR saEEw e ¥
generation rate and photon incidence rate
d. IF dwladeea AR saRle AW SEw oW & e Ea B/

of recombination and Electron -hole pair generation

& ¥ # gienfea # Dark

It is the ratio of electron

It is the ratio of rate

61. TF WY RFX F IFAHEH e F T F uRERT ¥
Responsivity of a Photo detector defined as -
Select one:

a. fhaem IEeqe SR & AN FECFTAF T A F Ao /7 A
measure of how much output light is obtained for each amp of input current,

b. BReAT H3TYT T & TF A FAYE FIHC F WoAh dic &k Y T &/ A measure of
how much output current is obtained for each watt of input light,

c. fhaar IMBTqE WBE & UE AW YA« are & A g & / A measure of how much
output light is obtained for each watt of input light,

d. RRaer IMITYE FE H Faer AU TAF v oA N F BA 97 ¥/ A measure of how
much output current is obtained for each Amp of input current,

62. -7 # Iauu FffFa B/Derallments can be classified into
categories.

w H: G

a1 b. 2 c.3, d 4

63, WS Ad seRiaee AR WWe @9 # O #R9r —— UF ¥/ Setting fire to

train/rallway Installations and railway property is a

a. WA= 379er / Natural Disaster b. @mE gdzar [Train accident

¢ #FHARATAT 9ET / Manmade disaster  d. W@ # Fw A8/ none of the above

i
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64, v® W @fdd - - FRET IR WEOT F Y Ieaverd § /| Every railway person
is responsible for the security and protection of

a) 3% 3ol |@9fd /His own property,

b) wEare FHadr @ufer /Fellow employee property.

¢) & ¥ufa / Railway property.

d) arEr #r ¥uiT / Passenger's preperty.

85. FHIR AT FYCAW ~——-——— T # A § / LC gate accidents comes under the
Category of

a) Y@mSY gEeer / Train accidents b) @& gHeaT / Yard accidents

¢) 3ue fawaar /. Equipment failures d) $fa geean / Indicative accidents

66. Us He FATW WHET W9 - & ® A S| Far & / One-hour period is
generally known as

a) f&w=x Her / Silver Hour b) es ©er / Golden Hour

¢) 3H3T ber / Diamond Hour d) wi&=™a €21 / Platinum Hour

67. T K UF § /v 3K & B9 3R =gt wg o Hser & 3T A §, 39y Wd {EUA
——-Fa A @ * Railway resources available at ARME/ART depots and
elsewhere within the division comes under the 3

a) §aTuw gf@e / Resource Unit i b) ¥t gfAe/ Resource Unit il

c) EaTu= gfAe/ Resource Unit | d) aue gfc /Resource Unit IV

88. gueEaAT TEA TWaiSEl £ /Accident Reiief Trains are

a) #% 3137 {eenisar / Breakdown Trains

b) T 3RUHA § /| ARME

) t¥ 9 HX & AT WS gheen Wed Y@emd AR gl &9\ /| SPART - Self Propelled
Accident Relief Train and Tower wagon

d) 3W&a @ / All the Above ;

-

69. Wl wew N Iew  waUA e FREE §7 F IHEEA Wnsal AR U HReA §
e w7 @ Bwor e ot T Bher # F FH % # UF aR A S Y
All Safety and other concerned Cfficers must inspect breakdown trains and ARME must
make a thorough Inspection at leastonca in ____________ months

a) & /TWO b) = /THREE ¢) IRIFOUR d) & / SIX

70. ARFF &7 & et H3c & g wAg Al e BT dvam ST s S omH — %
! Double exit siding TARGET TIME FOR TURNING OUT THE MEDICAL
VAN

a) 5 A= / Minutes b) 15 A& /Minutes
¢c) 257« / Minutes d) 10/ / Minutes
7. T ger & O & que f OO W g T WOHf M 3Ty

T § qg'vhﬂ | ©n recalpt of tha information of the occurrence of an &ccident, the
shall proceed by the quickest available means to the scene of the accident |
a) ST goi/ aRFF/ (Rvmier @ qrean ) JE/SSE(SST)

b) S{fFraR g/ aRAgs./ (Rve) JE/SSE(SIGNAL)

c) AT $oi/ aRJFgelr/ (€7®) JE/SSE(TELE)

d) G[ﬁ'ﬂ'( goir./ aRk S/ (Yeuy ) JE/SSE(PWAY)

10|Page
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AVMIYY N4 LSAMMHE Qleamatt &1 sy et AT 0 T

All ‘Serious Accidents’
AVMIIVY ““irlﬁw t‘ri‘ﬁ?:l?o by the

a)FEwaus | GM b)FUTHEWEU® /| AGM

¢) {&u AN w¥I% /CRS d) @& @1% /Railway board

73. 3&% @EUET & @Y ¥R &S & [ afa @ et dfawa  Iudey
AN W 9iRd [ equipped telephone should be made available to
passengers to communicate with their relatives.

a)s vadr / I1SD b) tw & & / STD

cy&um /| LOCAL d) 390 ®3% / All the above

74. 3% O 3ndvw wonedr Y FET FBF FU &/ What is the codal life of IPIS system

ag b.10 c.12 d.14

75. & I OWA TN BE FROT ¥ AEEF F WU 73 A & / Radio waves
sometimes bend around the corners due to

a. wiasf@a /Reflection b.gregsr / Diffusion
c. dw¥EHI= /Refraction d. BwwEes / Diffraction

76. 3Itw @REnAT W gt #O@saw %a@ W wf¥F @t & High-frequency long-
distance propagation mostly depends on

a. A=RHRF U= /  lonospheric reflection
b. P EFR® {3+ /Tropospheric reflection
c. @133 dFaFy= /Ground reflection

d. gFacEivas= / Inverted reflection

77, 3 Fas F o1 Nt FhI% o9 § Mweaw qige @ U133 a6 F g AW g R §
| What is the distance from the far end of the ground wave to the nearest point where
the sky wave returns to earth called?

a. ¥feay= &1 Fr / Angle of radiation

b. WW&as IuRlsT aRERar / maximum usable frequency
c. &9 glr /Skip distance

d. B9 e /Skip zone

78. Rfo®F 372 § B #¢ g7 dItsT IFWA: & The cut-in voltage for silicon diode

is approximately
a. 02V b. 06 V cid VvV di4 Vv
79. T oft Uk SFUA FT I F TS WFAW Y A PN junction has a thickness of the
order
a. 1cm b.1 mm c10% m d.10"? cm
80. #T ohmic IET &1 vd 3ZHIOT ¥/ An example of non-ohmic resistance is
a. =413 / Diode

b. EIREAaTER /Tungsten wire

¢. @A @& / Carbon resistance d.#9T a7 /| Copper wire

l1|Page
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81. ww yaaw € wwd Qpd B 3R ww dwve & o § gawr O aa gaw ey

1 When the length of the conciuctor is doubled and the area of cross-section
remains the same then its resistance

a. guwr W / Remains the same b. Zgd g / Will be doubled
¢. Jmur g3 /Will become half d. 9T A @@ /Will increase by four times

82. & WRT a1 kv 3w 2 w5 3w 10 A & wHar @ F o ¥ I
18 RS 4 & 9T @ § a IR 2 & uR &e @ ey & gefl / Two resistors R, and
R, with resistance 5 ohms and 10 ohms respectively are connected in series. The
voltage across R, le 4 V., What will be the value of current across R,.

a. 08 A b. 8 A c. 80 A d. 18 A

83. Rareh e W vedoeler aw @1 ¥ 3t a7 400va/vw €7 aaf@d oy wfad d«3 0.05
far, ¥\t 9 @sr @& ST & / What is the accelerating force on the Diwali rocket if it
ejects 0.05 kg of gases per second at a velocity of 400 m/s?

a. 20 N b. 20 dynes c. 1000 N d. 22 dynes

84. Uw MrRT aoiw 3eg FWEF F35 W 34 W & 1w By § 37 3 & & veweig

yoad & wu s W oA ¥ A A SRS wHT 39% @R WO T A a4 & A
parachutist weighing w strikes the ground with his legs fixed and comes to rest with an
upward acceleration of 3 g. What is the force exerted by him during landing?

a.w b. 2w c. w

85.

d. 4w

AR W3 A A A 0F aR & N § | F9 a7 W99 3R RART o &
ar ¥ Rold fRmt gecd § AR FER w1 3R oW 2 Fgd S R & ag e i s @
| FeRET  TRAT AT aTeT BT F IONE FEdT X AT TH 1 TH 2 § - Two trolleys of
mass m and 3m are connected iiy a string. When they are compressed and released,
they move off in cpposite directions and come to rest after covering a distance of S1
and S2 respectively. Assuming the coefficient of friction to be constant, the ratio of S1:
S2is

a. 19 b. 1:3 c.e3 d. 9:1

86. U AW U el W 40 & AW ¥ 1200 A tH H AR F WY WA F ¥ =¥

- AW areT SfET 38 144 W F Fwaw a9 F W W dtw gear &1 @ sieaw oy g9

et M v = g £ A machine gun fires a bullet of mass 40 g with a

velocity of 1200 ms™. The man holding it can exert a maximum force . of 144 N on the
gun. How many bullets can he fire per second at the most?

a. T& /One b. 2 Two c. =/Three d.9™/ Four

87. TS TWOEA § uiaw BEIRIT wnnr AW FEeey i T 9T € /The power

dissipated by a transistor approximately equais the collector current times.
a. Faact AT dleest / Collector-emitter voltage
b. ¥ gAY aIets | Base-emitter voltage

c. 38 Hqfd QTS /Base supply voltage
d 07V
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Ve NREARY BN R e fo & b e F dw e & s e & g
TV N B Y AR & e et e e e B

Which current source is connected between collector and base terminals in order to
supervise the consequences of base control in an active region DC Model of BJT?
a. alg b. Blg c. alg d. ﬁlg
89. Y AW FE & WU UF DR FHAdRN E & faAa@d Re@ & &Ror ¥/
Which of the following leakage current causes a small collector current with zero base

current
a. Fwaey A3 / Collector diode b. @8 3413 /Base diode
c. $1eX g / Emitter diode d. grEetex / Transistor

90. #t7 w1 A= Az AT A i Pr=fafRa Faofer 1 sfRfafe s § / Which logic
gate is represented by the following combination of logic gates?

re—f >0
——
s o —

a. OR b. NAND c.AND

d. NOR

91. U& ZiHSEX ST WY & ANAW & T F aW FAeT WRw ar ¥ /

As the temperature
of a transistor goes up, the base-emitter resistance .

a. ®# | Decreases b. €&ar / Increases

c. A ¥ EaT / Remains the same d.3Red # ¥ F& 771 / None of the above

92. vw grafdww amger 50 ohm 3R 25 & ®R¥w AW squw ¥ IR vF zwlAww s 50
ohm FUwaw gAdzw ¥ / The maximum impedance of a transmission line 50 ohm
and the standing wave ratio of 2.5 is

a. 20 b.125 c. 200 d.75

93. 93k 16 ¥ wsfitew auwr sA¥dIT & Wiy vF AT A TF So@ FRAR T / The

propagation constant of a transmission line with impedance and admittance of 9 and 16,
respectively is

a. 25 b. 144 c12 d.7

94, %ag & e 0% & o1 30F 9y & o9 BT & g § 3Rk Rewet & o7 =
S AT Im e PR A I s TS sror @ € 1 Which of the
following is the phenomenon caused when Radio waves travel in two or more paths
during propagation and produce slowly-changing phase differences between signals?

a. WHGOT /| Absorption b. &&%# / | Fading

c. aFnfalar /Baffling d. f¥FT /Skip
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85. & zawr WA AW wahneE w9 # WWRes fdll € /The radio waves were
demonstrated experimentally by '

8. ¥ [Hertz b.#sFwad / Maxwell
¢. AREET Marconi d. ¥ Armstrong

06. Uw W WA & @y AR FeREe Afa F WY v A {fdw I aw qoEr Jev § o
Far 89 / What will happen if a force is applied to a body moving with a constant speed
along a straight line?

a. 7ifq @247 / The speed increases

b. 3w ¥t / The direction changes

C. AFCH &A BEN /The momentum decreases

d. THFER IR & [ FaR a9 / Continues to move with uniform velocity

97. e AT SEEN F FANRIT =W FH A FA Ifead ¥ F ¢/ In single-mode fibres,
the cladding diameter must be at least

a. W S # 9ig &X / Five times the core diameter
b. X =g & &1 R / Thrice the core diameter

C. ®W =W # ZH X / Ten times the core diameter
d. FR) = 7 & ) / Twice the core diameter

88. W VW # Uw A AERE d9 & AW /ac ¥ yvE § ¥ safegs Fes # oo aeg
8 Vim § 1@t Bies & 9T 359 ¥ In an electromagnetic wave in free space, the
root mean square value of the electric fieid is 6 V/m. The peak vaiue of the magnetic
field is

a. 283 x 10% T b. 1.51 x 10° T
c. 080 x10° T d.4x10%T

99. sofdced fres aFy IR #oRed g dY & @I9 §9 oW ST Aess daw
#F &/ In electromagnetic waves the phase difference between electric field vector and .
magnetic field vector is

a. zero b. af2 C.x d.a/3

100. d9eiy 4000 T H #15C HfSAH Fag W TH el § fowdr o) soeg Peps  daaiy
5420 TR & ¥ & | HIf3uw F19 3w v € | Light of wavelength 4000 A is incident

on a sodium surface for which the threshold wavelength of photo-electrons Is 5420 A.
The work function of sodium Is

a. 5 eV b.3 eV c.2.29 eV d.0.57 eV

101, HRUFHFENEE RO RGHNERNEdFe 7 In which part of the Constitution
and in which Article provision regarding Official Language exisis?

a. W XVII, 3ed% 120  210/Part XViI, Aricle 120 & 210
b. 8T XVII, 3[ede 343 § 351Part XVil, Article 343 to 351
c. #T V, 3e[ede 120 ¥ 124Pan V, Arlicle 120 to 124

d. 8T VI, 3F7edZ 210 ¥ 223Part Vi, Article 210 to 223
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102. & Ruw & #=ar snar §? When Is the Hindi Day celebrated?
a. 10 swad/10™ January b. 24 Igaz/24" October
c. 14 Rdew/14™ September d. 01 f@FEw/01™ September

103. SRUW & IER 9 a6 A A ARG dG H qoE & e AR 417 As per the
Constitution by when should have Hindl become the Official Language of the Union

of India?
a. 26.01.1950 b. 26.01.1971 c. 26.01.1965 d. 26.01.1952

104. #isq AN FAEAT FARgar #7 daF & w@f@ear §2 What is the periodicity of
Divisional Official Language Implementation Committee meetings?

a. 2 AA # UF aR/Once in two months b, &fi& #AEH # & I /Once in three months

c. & AYHalf yearly d.a¥ & u# ar/Once in a year

105. WRYH WF] T F FHT Hodt g F frar smee afdw #1 9% A How many
languages wers included initially In the Eighth schedule when the constitution was
adopted?

a.18 b.14 c.22 d.17

106. arg #r e ¥ TSAT & fhaa &5 & enfSa fsar s/ar §7The States have been

divided into how many regions for the purpose of correspondence?
a.3 b.4 c.5 d.2

107. s w@fauw & 8 & Jgad & o i 7 vFAE AN FT A @ §?Which s
the only foreign language that is included in the 8" Schedule of the Indian Constitution?
a. Aqred/Nepali  b. 3Pd/Dogari  c.3ASEnglish dW!Pomlguese

108. 1967 & TM™a u=smar HRFTH 1963 F FFaiurT §?How many sections are there
in the Official Language Act 1963 as amended in 19677

a. 10 uIe/10 Sections b. 9 URW/9 Sections
c. 8 UNIU/8 Sections d. 3 &RTE/3 Sections

109. T fAfFEE &1 4rr 3 (3) 7 WA SFIES ) smeT / ETIt # SR R
ST @ifgvl Documents coming under Section 3(3) of Official Language Act should be
issued in languagel/languages

a. Fas & H/Only In Hindi b.aae 31T #/Only In English

c. & & 3t 3/ #An Hindi and in English d.f&& & a1 33 # /In Hindi or in English

110. Ry et dw g am uge & st & F7 F4r g@er TRT? In what order
should be the languages written in the name boards displayed in Central Government
Offices? |

~a &, 3ch, & s Hindi, English, Regional Language

. b8 s, 3N, &V Regional Language, English, Hindi

| C%ﬁ’!ﬂ!l' sar, f8Y, 31t /Regiona! Language, Hindi, English

- d. &, érfrr smwr, 3RS /Hindi, Regional Language, English
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'EXAM DATE: 05.09.2020

Q. I\\O._[-_A':l g Q. NO A: g Q.NO ANN;' Q. NO ANN:.' Q.NO ANN;_' Q.NO ANIE'
‘ : | a 21 a 41 c 61 b 81 b 101 b
2 d 22 c 42 c 62 d 82 a 102 c
3 b 23 a 43 d 63 c 83 a 103 (o
4 c 24 d 44 a 64 c 84 d 104 b
5 d 25 b 45 d 65 a 85 d 105 b
6 d 26 - 46 a 66 b 86 c 106 a
7 b 27 a 47 c 67 a 87 a 107 a
8 a 28 - 48 c 68 d 88 b 108 b
9 b 29 d 49 c 69 b 89 a 109 c
10 b 30 a 50 b 70 b 90 c 110 c
11 b 31 b 51 a 71 a 91 a
12 a 32 d 52 c 72 c 92 c
13 d 33 c 53 d 73 b 93 c
14 b 34 b - 54 a 74 b 94 b
15 d 35 c 55 c 75 d 95 a
16 d 36 d 56 d 76 a 96 d
17 c 37 a 57 b 77 d 97 c
18 d 38 d 58 c 78 b 98 a
19 d 39 < 59 b 75 c 99 a
20 ¢ 40 c 60 b 80 a 100 c
Suon?
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